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The Midpoint of a segment is the point that divides the segment into two congruent segments. 
The midpoint coordinate point can be found by using the following MIDPOINT FORMULA:     [image: ]

A SEGMENT BISECTOR is a point, ray, line segment, or plane that intersects the segment at its midpoint.

The DISTANCE FORMULA is used to find the length of a segment on the coordinate plan[image: ]

FIND THE MIDPOINT OF AB
FIND THE DISTANCE OF AB                                           [image: ]


1.4 VOCABULARY
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1.5  VOCABULARY
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Examples from 1.5
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Two angles are complementary if the sum of their measures is 90°.
Two angles are supplementary if the sum of their measures is 150°.
Adjacent angles are two angles that share a common vertex and side,
but have no common interior points.

Two adjacent angles are a linear pair if their noncommon sides are.
opposite rays.

Two angles are vertical angles if their sides form two pairs of
opposite rays.
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Given that £ 1 is a complement of £2 and m£ 1 = 50°, find m£2.
Given that £3 is a supplement of 24 and m£3 = 105°, find m£ 4,
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Solve for x in the diagram at the right.
Then find the measure of each angle.
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‘An angle consists of two different rays with the same endpoint. The
rays are the sides of the angle. The endpoint is the vertex of the angle.

An acute angle has measure greater than 0° and less than 90°.

A right angle has measure equal to 90°.

An obtuse angle has measure greater than 90° and less than 180
A straight angle has measure equal to 180°.

Two angles are congruent angles if they have the same measure.

An angle bisector is a ray that divides an angle into two angles that
are congruent.
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Postulate 4 Angle Addition Postulate: If P is in the interior of ZRST,
then m£RST = mZRSP + mZPST.
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mZJRN = 35° and m£ NRM = 90°.
Find mZJRM.
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mZABD = 60° and m£ ABC
Find mZ DBC.
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